Rys. 5 Przekroje poprzeczne

Pk = 0+081,42 Pk = 0+115,35 — ]
Skdla 1100,/100

Pk=04102777 T T
Skda 1100/100

/I .
Skala +100/100
Il Hum. istn=0,11mb Bl Hum istn= 2,40mb Bl Hum. istn.= 2,70mb
|:| Hum. proj.= 0,23mb |:| Hum. proj.= 0,30mb |:| Hum. proj.= 0,37mb
[ ] NASYP=0,02m2 [ NASYP=0,07m2 [ ] NASYP=0,06m2
] wykop=2,72m2 ] wykop= 3,15m2 ] wykop= 306m2
PP. = 152,00
nE B 8 B =8 PP. = 8300
RZEDNE PROJ. a8 8 % 8 88 PP. = 152,00 —H— . L
T T T T T T T T T T T T T T 83 9 & e 39
z 8 8 3 s = 2% 9 3 ] RZEDNE PROJ. 5E B B B B
RENETRN B 0 0H 0B & & & Hag & | RzEDNEPROL B 2 & & ae : 1 .
T ;! S‘-,“ ";f,? T T T I,.,.: 'ln:\' T é N T T T T T T TTT T RZ DNE TEREN e g Eﬁﬁ = = = =
oEcos | B OBEHE 3 5 WRES 5 |reoweTmeN 8 E B2 :8 g% Er BB a™ ° S o R -, 2
T T T 11 T T T T T TT T 1T TIT T 8 ﬁa F{_Si @Sé
oot | BEEEE O 58 g3 e wsm g (0| P WA SR 8 s 49. &
PK=0106000 [~ T | "l
Skdla 1:100/100 | l | [ —— Bl = 0+ 35,00
___ ik = )
Pik = 0+093, 1 :Zﬁgﬁ* TEE: Skda £100/100
B o istn=2,11mb Skala 100/100
|:|Hum proj.= 0,60mb [
[ ] NASYP=042m2 Bl o ist= 2.25mb I . ‘Smif’“mb
I:l WYKOP= 197m2 : |:| Hum. proj.= 0,05mb
=191m |:| Hum. proj.= 0,12mb |:| NASYP=0,17m2
[ NASYP=0,08m2 [ wkoP= 2,992
PP. = 5200 ] wykoP= 3.04m2
& = ' ' ' y PP. = $B300
RZEDNE PROV. 58 & & Z 22 — T FU— Pp =
e 3 o A A < = | RZEDNE PROJ. &8 8 & & & P = B30
Y St 22 = =, s T T T T T
RZEDNE TEREN g8 8 88 BES & 8 & 8 A S — 1T ) - 0 8 K 3 ] a2
T T T T T TTT T T T m T T = = = B E’ =2 g = b= RZEDNE PROJ‘ B B B B Bp
) N Q RZEDNE TEREN & & 8 & & &8 & & &
8 M. 88$.N % =3 — T T T T T TT T
ODLEGOSCH F Py o T8 g 8 g 588 = T T T - S BE an A4 ] =% |an
oeaos | FOF FEE 0§ Bgg 5 8 = g |FEDETEREN = Be B & @ g &b
ooEaosol | ® FmE ™ g 5 R 58
P = 0+077,00 %Em \ﬁ::
Skala 1.100/100 Pik = 0+100,68 :[:ﬁi
Skala 100/100 Bl 041250
o k = 04142,
[ . sin.= 2,50mb Skaia £100,/700 1
|:| Hum. proj.= 0,23mb . Hum. istn.= 2,26mb
D NASYP=0,21m2 [] Hum. proj=0,71mb )
] wykor=2,.99m2 [ NASYP=0,00m2 I Hun \Stn:: 2,60mb
|:| WYKOP= 3.01m2 |:| Hum. proj.= 0,32mb
[ ] NASYP=0,06m2
PP, = 5200 PP. = 53,00 [ wykor=3,33m2
RZEDNE PROL. &2 B Z 2 & RZEDNE PRO. B & 8 2 & PP = B - | -
! z i A L A 2 & 2R 5 = 2 & & S B S
REDETEREN & 8 E B B B HeeE | NONETRN = s g & & ks g ROV 20 ee e 0 & &8
T L L T T T T T T , i ; L\,IIID i I_ ' ' ' T ' 'B\'i § g 'g S E E‘l E '% E S E
mexos | % BB OBY ¥ 5 o3 smem g |0 | 3 F S W 5 A sogm g |MONER ee ¢ B B EE B R B 8 @
oecosol | BF OB H O3 Fgz 8 8 z538 85 8




Pk =0+16,67
SkquHOO/ 100

. Hum. istn.= 2,93mb
[] Hum. proj= 0,78mb

[ ] NASYP=0,05m2
] wykoP= 3.41m2

T

Rys. 5 Przekroje poprzeczne

Pk =0+192,57
Skala t 100/ 100

. Hum. istn.= 2,89mb
|:| Hum. proj.= 0,54mb
[ NASYP=0,05m2
] wykop= 3,10m2

PP. = 5400 PP. = 55500 PP. = 15600
é T T T T T ‘L f.é ‘_I T ‘_ll i‘» s:’: i‘h T
RZEDNE PROV. z 2 g = RZEDNE PROL. 38 3 g 3 g RZEDNE PROL. a3 5 Z 23
T %'., T T T T CL T T T ‘_I '\l 9" ﬁ,\'_” c\l, ! I,_I ! ‘—I oél <\Il é
REDNETEREN & & R S | RZEDNETEREN & = 23 3 S8 | REDNETEREN 2 g 2 8 s3 g 8 =
ODLEGL 00! 338 £83s g | onLEcLose 2 833 85 g g 2 &g | ODLEGLOSC g SF S g2 a 58 8% =
Pk = 0+ 156,88 Pik = 0+207,65 Pik = 0+246,00 E@ﬁ EESE
Skda +100/00 Skala £100/100 Skala £100/100
B Hum. istn.= 2,93mb B o istn= 2,19mb o istn= 2 77mb
|:| Hum. proj.= 0,77mb |:| Hurm. proj.= O 21mb |:| Hum. proj.= 0,17mb
[ NASYP=0,05m2 [ ] NASYP=0,08m2 [ ] NASYP=0, 26m2
O WYKoP= 341m2 ] wYKoP= 2,83m2 ] wykop=2,59m2
PP. = 5400 55 = 1500 PP. = 15600
3 : ~ . TT T T é : IF
RZEDNE PROV. & & — £ 2 Z RZEDNE PROV. g 2 35
= < < i . — : . ; 2 17 © 2 IR 2% y 2
REDNTEREN & & 4 | emnl | 5 53 5 2 7| | RZEDIETERE) 28 2 = e = 28 8
é ;al‘ I I T TT T T T T T T 8‘ éi ?é:,.?‘j“ 8‘,. @I“ g’.:;‘?_» I " :\ p“ I
ODLEGLOSC! @ . = g ODLEGLOS g S g8 g s ODLEGLOSCI FYOTTT S 58 83 a8 8
Pk = 0+172,00 Pik = 0+260,00
Skda £100/700 - ﬁ Pl = %202/9](1)% Di%—ﬁﬂﬂﬁiﬁ Skaa £100,/100
Bl Hum. istn= 2,72mb

[] Hum. proj= 0,72mb
[ ] NASYP=0,03m2
] wykop= 366m2

Pik = 0+240.71
Skala t 100/ 100

. Hum. istn.= 2,79mb
|:| Hum. proj.= 0,13mb
[ ] NASYP=0, 29m2
] wykop= 2,60m2

T

Bl Humn. istn.= 2,64mb
|:| Hum. proj.= 0,03mb
[ ] NASYP=0,23m2
[ WYKoP= 2,64m2

B Hum. istn=2,38mb
|:| Hum. proj.= 0,14mb
[ ] NASYP=0,20m2
] wykoP=2,71m2

160,16
160,21

PP. = B400

RZEDAE PROL 5% 4 g

TR EO50 Z00§ 3 = 3
meo | F O3S ¥ 3 3 :

PP. = 156,00

RZEDNE PROJ. §
RZEDNE TEREN §§
ODLEGLOSC! §§ ﬁ

-0.79 4 160,04+

B 1

465 4 10,17
500 4 %021

PP. = 1B700
RZEDNE PROV. gg g %Ig
TR 3 = 258 3
ODLEGLOSO 3 2 e e g




Rys. 5 Przekroje poprzeczne

Pk = 0+274.97 D:Eﬁ \HE::J Pk = 04+303,63 :ﬁ | | @ Pk = 04+330,00 :it%
Skaa 1100/ 100 Skda £100/100

Skaa £100/100 [ | ﬁ
. Hum. istn.= 2 45mb . Hum. istn.= 2,28mb . Hum. istn.= 2,74mb
|:| Hum. proj.= 0,17mb |:| Hum. proj= 0,22mb |:| Hum. proj.= 0,23mb
[ ] NASYP= 0,33m2 [ NASYP=0,34m2 [ ] NASYP=0,37m2
] wykoP= 254m2 ] wykop= 2,68m2 ] wykoP= 2,18m2
PP. = 157,00 PP. = 158,00 PP. = 159,00
e Al U = q - T e 2= = 5 s =3
RZEDNE PROV. &= 2 2 2 o= RZEDNE PROV. o o 5 8 &= RZEDNE PROJ. g 4 g g 22
T ; . — ] T T T =| T T T T T T 8y i é ,0\1’5'2 Fls Fls BI Elg Elg é
REDETREN 22 8 2 == o= S | ZONTRN & g & § 8§ 8§ § § §|rmoemN & 28 gg 28 288 2
T T T :n T —I T L T T ! ,.‘;‘-: ] J T L(; ' (\"' '” q': i SI I»gcl’cl: I gl_’ I rr,\;‘ I '\I I U lnl‘l_ I
ODLEGLOS0 588 8 853 55 ges g8 s | ODLEGLOSO & SR B8 2 g9  gema=gn s 5 | ODECLON 5 B3¥ § 38 38 5898 S5 g
Pk = 0431000 Imzﬁ ﬁ@ﬁ Pk = 0435177
Eifulo %208/4 ([))g Skala +100/100 ‘ Skala +100/100 ‘ﬁﬁ
Bl o istn=2,65mb Bl Ho. istn= 2,140 B Hum. istn.= 2,89mb
(] Hum. proj= 0,20mb [] Hum. proj.= 0,29mb [] Hum. proj.= 0,32mb
[ NASYP=0,33m2 ] NASYP=0,39m2 [ ] NASYP=0,30m2
[ wykop=2,47m2 [ wykop=2,76m2 [ wykop=2,05m2
5P = 1300 PP. = 160,00
PP. = 57,00 T o & 2 3 2
4 | ) — oo : = RZEDNE PRO. 2 @ 2 g =
RZEDNE PROL. e B Z 2 2 RNEFROL  mE E - S = memnl | S & o = g
— T L T T 2 237 33 88 Qa8 = 9 B 22 22 @ 8e 2 e
RZEDNE TEREN ﬁ =} g = = = = i i @L RZEDNE TEREN &F &r%gg 125125 © © 125125125 © © L TT T T T TT T T 1T T
2 2 2 =& =2 & 2 b5 ok R — — T — | ODLEGL0SCI 858 IR B =3 = g=8 893 =
T Cll T ILID T T QI‘ T T T T T T TT S 1= §3§ ﬁ 8.9 85{ S2n oy = [ [ | [ = T NN |
oDLEGroSC §|~ :i ?:?,» ,'Lf?.,-:\?i § ‘glr- 8 g- 8 3 8 8 89 8 ODLEGLOSCH SR i R R R N SS 3|8 & L3

Pik = 0+323,00 i %306/8188
Pik = 04286,75 ik =0+ EI@T —= T Skda
Skda 100/ 100 Skala £100,/100

%

. . Hum. istn.= 3,20mb
Hum. istn.= 2,59mb [] Hum. proj= 0,45mb
5 :m \s:g 2, 622&; [ Hum. proj.= 0,07rmb [ ] NASYP=0,29m2
I vvkoP— 2)5 i [ wYkoP= 2,28m2
PP. = 159,00
’ | | | | PP. = 160,00
8; B S %g T T T T T TT
- RZEDNE PROL. S 2 & I - g
PP. = %710 InN , | - T — . . | | RZEDNE PROV. = 2 2 2 Iz
2 7 2 z 23 REDNETEREN & = S g & % & = o5 =ga - 3
DR B 8 = = g | | F& € we ® = = % 2 | rpeTeREN B 2E  #= Ze = z
vy g = 3 A a r:%,'\g — [P o T L TT TT TT TT T T T
RIEDNETEREN 22 25 ZE= a2 & & | ODLEGLOSC = s SRS 85 S5 833 3 | onroot = 7 T Es = - .
oDLEGode | §¥ IR 5E =8 8 8 58 =




Rys. 5 Przekroje poprzeczne

Pik = 0-+394.82 Pik = 0:+412,00 :Ws Pik = 0:+438,09 B x o B —
Skaa £100/100 ;&7& Skala £100/100 Skala £100,/100  m
. Hum. istn.= 4,24mb . Hum. istn.= 5,03mb . Hum. istn.= 346mb
|:| Hum. proj.= 1,83mb |:| Hum. proj.= 0,93mb |:| Hum. proj.= 0,18mb
[ ] NASYP=0,11m2 [ NASYP=0,06m2 [ NASYP=0,1 ™2
] wykoP= 3 44m2 ] wykoP= 2,09m2 ] wykoP= 175m2
PP. = 162,00
PP. = %100 PP. = 16100 = = ' L
RZEDNE PROV. g z B ) 2 B2 RZEDNE PROJ. g8 & ) g 88 & 35 =2z 5 = n = & =
- P e T 2 & e S o [RADNETERN & g g €88 8 8 g g € B8
REDNETEREN & € & 232 Z2z 24 |EDETERN @ g B g8 gog g8 g , - S A T
E T T T T T T L T T T m T T c"_’ u; T T T TTT T LI T ODLEGLOSC' ‘-‘SP” %"P$ ‘Trl g ?‘L?, ?” §»§» § % ::'RL g'l §
oeqosn | B F OB § 8 233 5 spem oss oo | BB W % 88 o%s 8 85 8

Pik = 0+400,00

P00 T —T
Pik = 04420,00 W\ Skala £100/100 _ mml
Skl 100/ 00 m\m Skl £00/10
\

B Hum. istn= 480mb

Il Humn. istn.= 3,60mb
Bl Hum istn= 3.06mb [] Hum. proj= 0,34mb
[] Hum. proj= 184mb [] Hum. proj=0,24mb [ | NASYP=0,09m2
[ ] NASYP=0,10m2 [ ] NaSYP=0,08m2 [ WYKoP= 189m2
] wykor=2,61m2 ] wYkoP= 1,30m2
PP. = 162,00
5P = B100 PP. = 16100 RZEDNE PROJ. g & g g &8
Jdo = tl | | | | | | | $-I.I é‘ ,O\I“ é’ T T T T é II T 6 T T
RZEDNE PR 2 £ o . T RZEDNE PROL. a2 2 A g 28 REDNETEREN & 0 & 0 E &8 gg S5 88 3 3
T T TT T T TT TT T é OL’ : il-:"l.i S‘I:é, '*\:: 3.;:'_ é, é 2 I I!gl y ,_I " e ' '
TR B 5 oo & =3 say |RENETRN o 2 8z & &£ & 4| owow 2 B d8 a8 gae CRBYW & 8
oead | B 8 =2 S 5 ceen gne | IO 3 M oe B33z s 3w 8 8
Pk=0146300 T [ (T g gy | i —
Skala 100/ 100
,//‘—/T | B —
Eih %46058% 2150]0 EI):I|E)4[-)2/716)(€)5 n H~N IR . Hum. istn.= 2,78mb
aa / 1 [_] Hum. proj= 0,13mb
, Il Hum. istn.= 0,00mb [ ] NASYP=0,17m2
B s istn= 5,07mb [ Hum. proj.= 0,34mb [ wykor= 1,70m2
|:| Hum. proj.= 1,47mb I:l NASYP= 0.00m?2
% vaiiéi: 2295’”22 ] wrkop= 187m2 PP. = 16300
= £,00m T T T T T
PP. = 2,00 RZEDNE PROJ. 2 8 g g g
25 '8@_ a B Eﬂj“ '\I T T T T T T T TT T
o~ 100 RZEDNE PROL 4 @ . 2 & REDNETRN 2 2 B OB BER 2 2 g2 E
— : ' . ' o RZEDNE TEREN z B R E EERRE ODLEGLOSC) g 2539 388 883 g 2 R’ S8E8 8
a3 e g S g ag | PP ST aS = = S s &
RZEDNE PROJ. =] g 2] =2} 2] g9 T T A T T U T T
T3 & A = T | ODLEGLOS 2§ R 8 S8y 8§y oeEEg
REDNTERRN g2 & & g @8 8 8 g2 &
oEcoss | BFFR O/ E ¥ sz m o8 3




Rys. 5 Przekroje poprzeczne

Pk = 04504 51 w — Pl = 0459100
Skala 1100/ 100 % [ 1]

Pik = 0+646,00 A—
T Sk 1100/100 %/ﬁﬁf\m Skda £100/100 o | |

Il Hum. istn.= 2,09mb

Bl Humn. istn=2.71mb
|:| Hum. proj.= 0,52mb |:| Hum. proj.= 1,68mb
[ ] NASYP=0,11m2 [ ] NASYP=124m2
] wykoP= 2,05m2 ] wykop= 1,70m2

. Hum. istn.= 1,94mb
|:| Hum. proj.= 0,82mb
[ ] NASYP=0,62m2
] wykoP=2,41m2

PP. = 164,00 PP. = 1500 PP. = 165,00
'\l T OI‘) T @I) T 8 < o L’\?. o © R T T T g| T T T

RZEDNE PROL 22 # 2 2 2 RZEDNE PRO. g & @ e 2 & ¢ RZEDNE PROL 28 3 Z 3 B3

I als & m—— T T 85 5 55 5 B2 5 o L T ' 7
petre 2R OB B A R E BE g ToOT| & FEE @8R 2 Hrmeey 2 OB OF OB 5 c g 3

T T T T TT T TT T mT T T . Q 8 e Bk=2] R B — . - i T Nlj 6:‘-‘lﬁl °|‘| T T T T T T T
omEcose | BF BRI S 88 g oz s g (OO0 | FOWHEE S 9 A F F odao | YRS =5 % 58 8 8
- Pik = 0+593,54 T\
00 e Sl
Skdlo 1100/ 100 Skala 11007100

Pk = 0+654.68
T gk 1100/100 %—ﬁ
. Hum. istn.= 1,41mb

|

[] Hum. proj= 0,34mb
[ ] NASYP=0,30m2
] wykoP= 167m2

Bl Humn. istn.= 2,42mb
|:| Hum. proj.= 1,34mb
[ ] NASYP=1,07m2

. Hum. istn.= 2,23mb
[] Hum. proj= 0,68mb

[ ] NASYP=0,66m2
[ wykor=171m2

] WYKoP= 2,34m2

PP. = 165,00
B Qo x s T X X T T X y . gg gcé; g
RZEDNE FROJ i g 5 & REDETEREN Hede 2 & & Be Haa g 3 ns R = a 9
FI.’ é glg gl é }éé . éall ) 8| E% 8|| L\llnln 8” T TTrT T T T T RZEDNE TEREN ?5 ‘?Q; @ @@ @ @
TR @ = & g = =2 |oeackn | FRS BREN W %5 WEES 5T 3 o 5 Emms = - .
o ™ —m ™ ODLEGLOSO! 3 g8 888 2 = 5
oS | F O3 RS g 88 8 % &S i

Pik = 04+624,00 W —
{ Skala £100,/100 ]
PR=019638 | A S e m—
Skala 100/100 Bl o istn= 194mb
|:| Hum. proj.= 0,71mb

[ NASYP=059m2
] wykop= 2,30m2

Bl Hum. istn.= 195mb
|:| Hum. proj.= 0,99mb
[ ] NASYP=0,73m2
] wykop= 131m2

PP. = 165,00
P.P. = 165,00 T é Q‘ gl T
E il — RZEDNE PRO. #2 @ & g 2a
RZEDNE PROL. 2 g g g g g8 = 3 9 aoa & o e & o
T olcllocl T T 17T T TTT <|\ RZEDNE TEREN @ g @ ggg %cés‘ %cés‘ gg g g
RENETEREN 2% Zee 2 e o e e — O
S . ] | ODLEGLOSC) g 7R g 2%8 95 88
oneeroso | BT FEEE e TER 88 S




